RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving an Intergovernmental Agreement between the Tohono O'odham Nation and the Arizona Board of Regents, University of Arizona, Regarding the Development of a Long Range Plan for the Tohono O'odham Nation)

RESOLUTION NO. 10-392

1	WHEREAS,	the Nation understands the need for a shared Tohono O'odham vision that addresses
2	:	not only the immediate needs of the Nation but those that are twenty years into the
3		future; and
4	WHEREAS,	${\bf no formally recognized long range planning document is currently in place that helps and it is a constant of the property of $
5		develop or articulate this vision; and
6	WHEREAS,	the Nation recognizes the importance of the development of a long range plan and the long range plan and pl
7		Planning & Economic Development Department has been directed to develop such a
8		plan for the Nation; and
9	WHEREAS,	the Planning & Economic Development Department has identified the University of
10		Arizona, School of Landscape Architecture & Planning to assist the Nation in activities
11		related to the development of the long range plan; and
12	WHEREAS,	the long range plan will involve the elements of: Land Use, Circulation, Growth Area,
13		Environmental Planning, Cost of Development, Open Space, Water Resources,
14		Economic Development, Energy, Conservation, Recreation, Public Services &
15		Facilities, Housing, and Safety; and
16	WHEREAS,	the Nation's Eleven (11) Districts may elect to, or not to, participate with developing
17		this long range plan; and
18	WHEREAS,	the attached IGA has been reviewed by the Commerce, the Natural Resources and the
19		Domestic Affairs Committees which recommend approval by the Tohono O'odham
20		Legislative Council.
21	NOW, THEF	REFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council approves the
22		Intergovernment all Agreement (IGA) with the University of Arizona substantially in the
23		form attached hereto.
24	BE IT FURT	THER RESOLVED that the University of Arizona and the Tohono O'odham Nation's
25		Planning & Economic Development Department work closely with each of the Tohono
26		O'odham Nation's Eleven (11) Districts in an effort to accomplish the provisions of this
27		Intergovernmental Agreement.
28	BE IT FURT	HER RESOLVED that the Tohono O'odham Nation's Eleven (11) District's may elect to,
29		or not to, participate with developing this long range plan.

	RESOLUTION NO. 10-392
	(Approving an Intergovernmental Agreement between the Tohono O'odham Nation and the Arizona Board of Regents, University of Arizona, Regarding the Development of a Long Range Plan for the Tohono O'odham Nation) Page 2 of 3
1	BE IT FINALLY RESOLVED that the Tohono O'odham Nation Chairman is authorized to execute the
2	IGA and any subsequent amendments to extend the term of the IGA provided that any
3	amendments affecting the funds or funding level shall be submitted for further
4	approval by the Tohono O'odham Legislative Council.
5	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the $\underline{29^{TR}}$ Day
6	of <u>SEPTEMBER</u> , <u>2010</u> at a meeting at which a quorum was present with a vote of <u>2,436.50</u> FOR; <u>-0</u>
7 8	AGAINST; <u>159.0 [01]</u> NOT VOTING; and <u>[08]</u> ABSENT, pursuant to the powers vested in the Counci by Article VI, Section 1 <u>(f) and (i)</u> of the Constitution of the Tohono O'odham Nation, adopted by the
9	Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistan
10	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June
11	18, 1934 (48 Stat. 984).
12	
13	TOHONO O'ODHAM LEGISLATIVE COUNCIL
14	<u> </u>
15	
16	Felicia Runes you
17	Verlon M. Jose, Legislative Chairman
18	-
19	29 th September, 2010
20	day of <u>XULUTION</u> , 2010
21	·
22	
23 24	
25	ATTEST:
26	VI . $u \in \mathcal{I}$
27	Mondale
28	Evonne Wilson, Legislative Secretary
29	29 day of September, 2010.
30	29 day of Sep amble, 2010.
31	
32	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odhan Nation on the O'lday of September 1997 and
33	Nation on the Officery of September 2010 at 5:13 o'clock, P
34 35	upon his approval or upon his failure to either approve or disapprove it within 48 hours of
36	submittal.
37	Submitten.
38	TOHONO O'ODHAM LEGISLATIVE COUNCIL
39	
40	Λ \sim \sim \sim
41	Felicia hunen for
42	Verlon M. Jose, Legislative Chairman
43	
44	
45	
46	

	RESOLUTION NO. <u>10-392</u> (Approving an Intergovernmental Agreement between the Tohono O'odham Nation and the Arizona Board of Regents, University of Arizona, Regarding the Development of a Long Range Plan for the Tohono O'odham Nation) Page 3 of 3
1	APPROVED on the 30 day of September, 2010
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19	APPROVED on the 30 day of September, 2010 at 8:14 o'clock, A.M. NED NORRIS, HA. CHAIRMAN TOHONO O'ODHAM NATION WILE CHAIR RULE Returned to the Legislative Secretary on the 30 day of Liphulu., 2010, at 5:48 o'clock, A.M. Evonne Wilson, Legislative Secretary
20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44	

ACTION: APPROVING AN INTERGOVERNMENTAL AGREEMENT BETWEEN THE TOHONO O'ODHAM NATION AND THE ARIZONA BOARD OF REGENTS, UNIVERSITY OF ARIZONA, REGARDING THE DEVELOPMENT OF A

LONG RANGE PLAN FOR THE TOHONO O'ODHAM NATION

MOVED: COUNCILWOMAN LORRAINE EILER

SECOND: COUNCILMAN CHESTER ANTONE

DATE: SEPTEMBER 29, 2010

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENI
SIF OIDAK 198.7	1. WAVALENE ROMERO (Nicholas Jose)	99.35	х			
27017	2. MARY LOPEZ ()	99.35	x			x
SELLS	1. KIMBERLY LISTO	224.80	х			"
449.6	2. EVELYN B. JUAN MANUEL	224.80	x			į
SCHUK TOAK	1. FRANCES B. CONDE (Absent) (Fredrick Jose) (Present)	79.50			Х	
159.0	2. LINDA PARLEY (Agnes Joaquin)	79.50			X	x
SAN XAVIER 204.7	1. FELICIA NUÑEZ	102.35	x			
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	102.35	X			X
SAN LUCY	1. LORRAINE EILER	93.55	x			
187.1	2. GLORIA RAMIREZ	93.55	X			X
PISINEMO 184.5	1. CHESTER ANTONE (Tony Murrietta)	92.25	x			
	2. EDWARD MANUEL (Gerald Fayuant)	92.25	X			
HICKIWAN	1. MICHELLE ORTEGA	87.25	x			Х
174.5	2. SANDRA ÓRTEGA	87.25	X			
GU VO	1. GRACE MANUEL	103.15	x			
206.3	2. PAMELA ANGHILL (Absent) (Angela Ortiz) (Present)	103.15	X			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05	х			
230.1	2. CYNTHIA E. MANUEL	115.05	X			X
CHUKUT KUK	ETHEL GARCIA (Sara Mae Williams)	138.50	х			
277.0	(Sara Mae Williams) 2. VERLON M. JOSE ()	138.50	X			x
BABOQUIVARI	FRANCES MIGUEL (Roberta Harvey)	162.0	х			
324.0	2. FRANCES G. ANTONE (Vernon Smith)	162.0	х			x
TOTAL		2,595.50	2,436.50	-0-	159.0 [01]	[08]